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CW: 71.6: Solving Linear Systewms using Substitution

1. In a game of cards, Mrs. Bross scored 3 times as many points as
Blake. If the total number of points scored by both players is 56,

how many points did each player score?
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a. Define your variables. X= =0 m&&v ﬁoc_&@a nts

b. Write a linear system to model this sitvation.
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¢. Solve the linear system. Using words, expla nyour
solution in the context of the situation. L L‘h

42,14 ) Ms RMOSS haol (7/5/00,0 A
(4114) BZ/% PV S = '"\ra\
4 steps to solving a linear system using SUBSTITUTION:

STEP 1: | Solve one of the 2AVatIONS  £or ope of tg  Variables

STEP 2: | Substitute the expression  from Sfep 1 into the other
equafion  and solve for the other °_variable

STEP 32 oSubs’rl’tu’re the valve from Step 2 into one of the original
equationsS _and solve for the remaining”_variable

STEP 4; | ° _Check your __Solutions in each of the original
equations.




Solve the following systems using substitution: @ W= )+
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